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Text similarity on story level over story period and baselines

The following document provides a multipage figure showing text similarity on the story
level over story period and baselines, allowing us to evaluate the validity of the ACR method
for each story individually. Please note that each panel of the figure reflects a story, while
the mean text similarity is given for each baseline b; and the story period s. Error bars
reflect 95% confidence interval. The gray dashed line represents the mean of the story
period; therefore, baselines means should be below this line. We also performed Welch’s
t-tests to check whether the text similarity during the story period was significantly higher
than all other baselines; if so, the panel is colored purple, otherwise gray.
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Figure 1: Text similarity on the story level over baselines and story period.
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Figure 1: (Continued)
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Figure 1: (Continued)
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Figure 1: (Continued)
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Figure 1: (Continued)
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Figure 1: (Continued)
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